Patients with age<=65

mBAscore == High == Low

>

8

o
]

=
3

p=0.067

Survival probability
o
=

o
s

012345678 91011121314151617181920
Time(years)

1231614118 54322222220
05311111110000000

mBAscare

[
=
=2

o

"~

@

s

5678 91011121314151617181920
Time{years)

Patients with MO

E

mEAscore == High =~ Low

e =
= 3

Survival probability
o
&

B

Patients

E]

with age>65 Patients with Male

C

mEAscore == High == Low mBAscore == High == Low

1.00
£ >
§075 Zom
g $
8050 8050
o] 2o,
=051 p=0040 5°%| p=0.088
000 000
00123 45678910112 012345678 91011121314151617181920
Time{years) Time{years)
2 2
BRI M B BT B E 2 2 10 2 Hon{ 14T0F04427 1016148 832222222220
Sl @y 1754 7717110 Bl e s2222288220
E 0123 4567 8910112 - 012345676 91011121314151617181920
Time{years) Time{years)
Patients with M1 Patients with |-Il

F

= ==
o 2

Survival probability
o
&

mBAscore == High == Low mBAscore == High == Low

.9

;

Survival probability
=
=2

025 025 025
p=0.005 p=0957 p=0.021
0.00 00 0.00
01234567 891011121314151617181920 001 2 3 4 5 6 7 8 012345678 81011121314151617181920
Time(years) Time{years) Time(years)
L 2 L
o 0 Q
O High{272184B45842312516107 5322222220 Uighi 15 8 7 6 4 2 2 | aH \gh 231813m554382ﬁ2|13? §4222222220
£L°m'12$9543217107332221WUCUDOUD QL 13 06 8 3 0 0 D 0 0 g 100754726146 533222110000000
£ 01234587 891011121314151617181920 2 01 2 3 4 5 8 8 E 012345878 91011121314151617181920
Time{years) Time{years) Time(years)

Patignts with llI-IV

H

mBAscore == High = Low

e =
o =

Survival probability
o
b=

Patients with T1-T2

I

= =
5 =3

Survival probability
<=
=

Patients with T3-T4

m6Ascore == High =~ Low mBAscore == High =~ Low

< v
o 2

Survival probability
o
=

Patients with Female

D

mEAscore == High == Low

g

o
ot

Survival probability
= =)
= &

p=0.038

o
3

0123465678 910112131415
Time(years)

Hig 3111461228
Low 58 3

s}
_scn
o=

mSAscore
~romy

01 3

=t

ime(years)

025 025 025
p=0.365 p=0.109 S p=0.024
000 000 0.00
01 2345678910112 01234567 89101121314151617181920 0123 456 78 910112
Time{years) Time{years) Time(years)
4 2 4
o ] g
CHighl62 44 221510 8 7 6 4 3 2 1 1 3gh214741(57402620155422222222220 QHigh{79 57 42 34 24 201312 9 6 5 3 1
Clow(3829136 3220000020 < Low{100734326127 6 332221 10000000 CLW 382517 95 9 70 0 00 0 ¢
2 o0f234s5676snni ¢ 01234567 89101121314151617181920 2 0123 456 78 9101 12

Time{years)



